

Topic - Problem based on 2nd order.
 Differential Equation with variable
 coefficient - (Method of changing the
 independent variable) Contg
 B.Sc III (Math HONS)

Date -

By Dr. S. N. Sharma.

Solve

$$x^4 \frac{d^2 y}{dx^2} + 2x^3 \frac{dy}{dx} + a^2 y = 0$$

Here Given Equation is

$$x^4 \frac{d^2 y}{dx^2} + 2x^3 \frac{dy}{dx} + a^2 y = 0$$

$$\Rightarrow \frac{d^2 y}{dx^2} + \frac{2}{x} \frac{dy}{dx} + \frac{a^2}{x^4} y = 0.$$

$$\text{Here } P = \frac{2}{x} \quad Q = \frac{a^2}{x^4} \quad R = 0$$

Changing the independent variable from
 x to z , the Equation becomes

$$\frac{d^2 y}{dz^2} + P_1 \frac{dy}{dz} + Q_1 y = 0$$

$$\text{Where } P_1 = \frac{d^2 z}{dx^2} + P \frac{dz}{dx}$$

$$Q_1 = \frac{Q}{\left(\frac{dz}{dx}\right)^2} = a^2$$

$$a^2 \left(\frac{dz}{dx}\right)^2 = \frac{a^2}{x^4}$$

$$a^2 \left(\frac{dz}{dx}\right)^2 = \frac{a^2}{x^4}$$

$$\left(\frac{dz}{dx}\right)^2 = \frac{1}{x^4}$$

$$\therefore \frac{dz}{dx} = \frac{1}{x^2}$$

$$\Rightarrow \int dz = \int x^{-2} dx$$

$$z = -\frac{1}{x}$$

$$\frac{dz}{dx} = \frac{1}{x^2} \quad \frac{d^2z}{dx^2} = -\frac{2}{x^3}$$

$$\text{Check } P_1 = \frac{-\frac{2}{x^3} + \frac{2}{x} \cdot \frac{1}{x^2}}{\left(\frac{dz}{dx}\right)^2} = 0$$

Thus Transformed Equation is

$$\frac{d^2y}{dz^2} + a^2y = 0$$

Auxiliary Equation

$$D^2 + a^2 = 0$$

$$D^2 = -a^2 = a^2 i^2$$

$$D = \pm a i$$

$$\therefore \text{Solution} = C_1 \cos az + C_2 \sin az$$

$$= C_1 \cos a \left(-\frac{1}{x}\right) + C_2 \sin a \left(-\frac{1}{x}\right)$$

$$= C_1 \cos \frac{a}{x} - C_2 \sin \frac{a}{x}$$

Solve the Differential Equation-

$$x \frac{d^2 y}{dx^2} - \frac{dy}{dx} - 4x^3 y = 8x^3 \sin x^2$$

Solution - Given Equation is

$$x \frac{d^2 y}{dx^2} - \frac{dy}{dx} - 4x^3 y = 8x^3 \sin x^2$$

$$\Rightarrow \frac{d^2 y}{dx^2} - \frac{1}{x} \frac{dy}{dx} - 4x^2 y = 8x^2 \sin x^2$$

Check Here $P = -1/x$ $Q = -4x^2$

$$R = 8x^2 \sin x^2$$

Changing the independent variable from x to z , the equation reduces to-

$$\frac{d^2 y}{dz^2} + P_1 \frac{dy}{dz} + Q_1 y = R_1$$

$$\text{Where } P_1 = \frac{P \frac{dz}{dx} + \frac{d^2 z}{dx^2}}{\left(\frac{dz}{dx}\right)^2} \quad Q_1 = \frac{Q}{\left(\frac{dz}{dx}\right)^2}$$

$$R_1 = \frac{R}{\left(\frac{dz}{dx}\right)^2}$$

Now $\frac{Q}{\left(\frac{dz}{dx}\right)^2} =$

$$\Rightarrow \frac{-4x^2}{\left(\frac{dz}{dx}\right)^2} = -4$$

$$x^2 = \left(\frac{dz}{dx}\right)^2$$

$$\therefore \frac{dz}{dx} = x \quad \frac{d^2 z}{dx^2} = 1$$

$$dz = x dx$$

$$z = x^2/2$$

$$\text{Now } P_1 = \frac{p \frac{dz}{dn} + \frac{d^2 z}{dn^2}}{\left(\frac{dz}{dn}\right)^2}$$

$$= \frac{-\frac{1}{2} \times 2 + 1}{\left(\frac{dz}{dn}\right)^2} = 0$$

$$Q_1 = \frac{Q}{\left(\frac{dz}{dn}\right)^2} = -\frac{4n^2}{n^2} = -4$$

$$R_1 = \frac{R}{\left(\frac{dz}{dn}\right)^2} = \frac{8n^2 \sin n^2}{n^2} = 8 \sin n^2$$

$\therefore$ The Differential Equation reduces

$$\frac{d^2 y}{dz^2} + P_1 \frac{dy}{dz} + Q_1 y = R_1$$

$$\frac{d^2 y}{dz^2} + (-4)y = \frac{8 \sin n^2}{4} = 2 \sin z$$

$$\frac{d^2 y}{dz^2} - 4y = 2 \sin z$$

Auxiliary Equation

$$D^2 - 4 = 0$$

$$D^2 = 4 \quad D = \pm 2$$

$$\therefore y = C_1 e^z + C_2 e^{-z} - \sin z = C_1 e^{x^2} + C_2 e^{-x^2} - \sin x^2$$